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Place Value - HTU

Digits have different values for different positions in a humber.

Whole nhumbers can be hundreds (H), tens (T) or units (U)

[n this humber, there are 3 hundreds, 2 tens and 4 units:

300 + 20 + 4 = 324

ATU HTU
324

An abacus is made up of rows of beads to show the hundreds, tens i
and units. This is what they used a lohg time ago before calculators! ‘ _‘_J
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Write the humbers in the boxes:

Draw the numbers as
beads on the abacus:
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1 hundred + tens +

hundreds +

8 hundreds + 2 tens + 5 units =

hundreds + 5 tens + T units = 357

units = 124

tens +

units = 549
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